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) All questions are compulsory.
i) Attempt any two sub questions from each question.

ii) All questions carry equal marks.
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A. Explain gender stereotypes. Discuss how glass ceiling and glass cliff create a barrier for women.
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for countering the effects of prejudice.
What are stereotypes? Explain how stereotypes operate and do they ever change?

. Why does destructive obedience occur? Discuss various ways to resist the effects
of destructive obedience.

. Discuss the tactics of compliance based on scarcity.

- What is conformity? Explain why good people sometimes do evil things.

- Why do people engage in bullying? Discuss the characteristics of bullies and victims.
. Discuss the evolutionary perspective and drive theories of aggression.
. Write a note on media violence.

- Define group and state its types. Discuss the benefits of joining a group.

-What are conflicts? How are they resolved?

- Explain the process of group decision making. How brain storming helps in the process
of decision making?

Explain tokenism. What happens when targets speak out about discrimination?
. Discuss Asch’s research on conformity.

. Describe the techniques of catharsis and punishment for reducing aggression.
. Explain status and cohesiveness as key components of group.
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What is prejudice? Discuss ‘potential effects of contact’ and ‘recategorization’ as techniques
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